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7oA
X0.Y0
110-1
110-2
110-3
110-4
110-5
110-6
110-7
110-8
110-9
110-1

1 LOT

ToA
X0.Y0
110-1
110=2
110-10
110=-22
110=-21
110-20
110-9
110-1

2 LOT

ToAL
X0.Y0
110-10
110-11
110~25
110-23
110-10

* h 72 ¢t

X
150400.000
150460.656
150458.378
150448.253
150449.998
150491.478
150493.564
150497.709
150495.818
150481.847
150460.656

X
150400.000
150460.656
150458.378
150454.715
150491.204
150492.418
150481.467
150481.847

- 150460.656

X
150400.000
150454.715
150452.980
150468.601
150469.297
150454.715
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-~ 40000.000
- 40111.573
- 40109.671
-~ 4D034.370
- 40032.277
- 40028.764
~  40030.581
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- 40110.735
- 40111.036
- 40111.573
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= 40111.573
=~ 40109.671
- 40082.428
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- 40103.138
- 40103.725
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- 40082.428
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- 40081.653
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6513.408594
5291.954763
1718.431260
2952.635406
2691.274896
2988.038929
10415.416600
9063.327545
6734.999616

48369.487609
6843.637392
3421.818696

6513.408594
6000.648765
7517.763312
7438.632402
8402.343446
8489.580075
6734.999616
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(XN=1=X0)*(Y-Y0)
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+
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+ + + +

+

6652.204176
2006.451860
1557462081
1438.142472
2797.488718
10170.406800
10819.806115
10639.247448
9131.915331

55213.125001

6652.204176
4811.981784
4603.955635
9406.598152
9586.057050
9045.769812
9131.915331

53038.481940

3804.224520
3639.673020
5601.477453
5712.013116

18757.388109
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7941
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110~12
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110-25
110-11
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110=15
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FoAA
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110-13
110-3
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110=16
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X
150400.000
150452.980
150452.952
150468.590
150468.601
150452.9280

X
150400.000
150452.952
150450.440
150494 .504
150495.499
150452.952

X
150400.000
150450.440
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150449.998
150491.478
150493.564
150494 .504
150450.440

X
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150495.499
150496.092
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Y
- 40000.000
- 40069.528
- 40069.323
= 40068.489
~ 40068.699
- 40069.528
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Y
- 40000.000
~ 40069.323
- 40050.639
- 40048.291
- 40067.053
- 40069.323
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Y
- 40000.000
- 40050.639
-~  40034.370
- 40032.277
-  40028.764
- 40030.581
- 40048.291
~  40050.639
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(X=X0)*(YN=1-Y0D)

3681.646656
4754.864570
4698.413889
3639.673020

+ 4+ -

+

16774.598135
6.518671
3.259335
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3496.652120
4785.588056
4611.742209
3550.590456

+ + + +.
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16444.572841
1629.715416
814.857708
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2443483667
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15131.650093
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ToA
110=-24
110=26
110-15

7 LOT

FoA
X0.Y0
110-16
110-17
110-23
110-24
110=16

8 LOT

FoAT
X0.Y0
110~17
110~18
110-21
110=22
110-17

9 LOT

F A1
X0.Y0
110-18
110-7
110~8
110-19
110-21
110-18

*
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X
150469.190
150468.590
150495.499

X
150400.000
150496.092
150496.198
150469.297
150469.190
150496.092

X
150400.000
150496.198
150497 .401
150492.418
150491.204
150496.198

X
150400.000
150497.401
150497.709
150495.818
150492.8238
150492.418
150497 .401

Y

b I A & b

Y
- 40079.657
- 40068.489
- 40067.053

NN AP
Aot+

Y
- 40000.000
= 40078.220
- 40080.224
~ 40081.653
= 40079.657
- 40078.220
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Y
- 40000.000
- 40080.224
- 40102.896
- 40103.138
- 40080.489
= 40080.224
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Y
- 40100.000
- 40102.89%96
- 40108.700
- 40110.735
- 40110.799
- 40103.138
- 40102.896
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(X=X0)*(YN=1=-Y0)
+ 5412.041800
+ 5463.673630
+ 6540.631011

+ 23859.603317
602.648087

301.324043

(X=XD)*(YN=-1-Y0)

7524.607560
5559.282528
5649.571070
7654.400444

+ + + +

+

26387.861602
107.911229
53.955614

(X=X0)*(YN=1=Y0)

7813.897824
9509.442528
9406.598152
7742.880822
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-

34472.819326
226.696518
113.348259

(X=X0)*(YN=1=Y0)

282.965264
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996.508580
998.021982
305.644338

+ + + + o+

+

3416.756764
73.213425
36.606712

(XN=1=X0)*(Y=Y0D)
+ 7654.400444
+ 4738.753910
+ 4599.165270

+ 24462.251404

(XN=1=X0)*(Y~Y0)

+ 7708.884608
+ 7854.855294
+ 5519.991129
+ 5412.041800
+ 26495.772831

(XN=1=-X0)x(Y-Y0)

9898.,389408
10045.744338
7438.632402
7316.749696

+ + + +

-+

34699.515844

(XN=1=X0)*(Y=-Y0)

847.388700
1048.906115
1034.738582

291.294264

267.642528

+ + + + +

+

3489.970189
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X0.Y0
110-19
110=9
110-20
110-21
110=19

*

* h 2t

X
150400.000
150492.328
150481.847
150481.467
150492.418
150492.828
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¥
40100.000
40110.799
40111.036
40103.725
40103.138
40110.799

Y Aot¥
Aottt
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(X=X0)*(YN~1=Y0)

+ + + +

+
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883.865753
899.069812
344.257050
291.294264

2418.486879
164.508432
82.254216

(XN=1=X0)*(Y~YO0)

+ + + +

-

1024.449808
304.880075
255.643446
098.021982

2582.995311




